
MATHS

BOOKS - TARGET MATHS (HINGLISH)

FACTORIZATION FORMULAE

Classical Thinking

1.  is equal to

A. 

B. 

C. 

D. 

Answer: C

cos 5∘ − sin 25∘

sin 20∘

sin 60∘

cos 55∘

cos 90∘

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_isvjmBfWadB0


Watch Video Solution

2. The value of  is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cos 57∘ + sin 27∘

cos 30∘

cos 3∘

sin 3∘

sin 30∘

3. Prove that 

A. 

B. 

C. 

cos 18∘ − sin 18∘ = √2sin 27∘

sin 27∘

√2sin 27∘

cos 27∘

https://dl.doubtnut.com/l/_isvjmBfWadB0
https://dl.doubtnut.com/l/_PuABFd61DpBC
https://dl.doubtnut.com/l/_n9tO0luKnjRx


D. 

Answer: B

Watch Video Solution

√2cos 27∘

4. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

cos( + x) − cos( − x) = − √2 sin x
3π

4

3π

4

−√2 sin x

√2 sin x

cos x

−√2 cos x

5. sin 50∘ − sin 70∘ + sin 10∘

https://dl.doubtnut.com/l/_n9tO0luKnjRx
https://dl.doubtnut.com/l/_upYR0duVdgNv
https://dl.doubtnut.com/l/_pfvS0EV7h1g8


A. 1

B. 0

C. 

D. 2

Answer: B

Watch Video Solution

1

2

6. The value of 

A. 0

B. 1

C. 2

D. 

Answer: A

Watch Video Solution

cos 52∘ + cos 68∘ + cos 172∘

3

2

https://dl.doubtnut.com/l/_pfvS0EV7h1g8
https://dl.doubtnut.com/l/_y9m77BU0B97f


7. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sin(β + γ − α) + sin(γ + α − β) + sin(α + β − γ) − sin(α + β + γ) =

2 sin α sin β sin γ

4 sin α sin β sin γ

8 sin α sin β sin γ

sin α sin β sin γ

8. Prove that 

A. 

B. 

= cot 2x
sin 3x − sin x

cos x − cos 3x

sin x

cos x

https://dl.doubtnut.com/l/_y9m77BU0B97f
https://dl.doubtnut.com/l/_irW6TZUAvSnn
https://dl.doubtnut.com/l/_cxC6dG0mJCy0


C. 

D. 

Answer: C

Watch Video Solution

2 sin x

2 cos x

9. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

= tan 4x
sin 5x + sin 3x

cos 5x + cos 3x

cot x

cot 4x

tnax

tan 4x

https://dl.doubtnut.com/l/_cxC6dG0mJCy0
https://dl.doubtnut.com/l/_lmgdchOZLScp


10. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

=
cos 7A + cos 5A

sin 7A − sin 5A

cot A

cot 5A

tan A

tan 5A

11. 

A. 

B. 

C. 

D. 1

=
sin 70∘ + cos 40∘

cos 70∘ + sin 40∘

1

√3

√3

1

2

https://dl.doubtnut.com/l/_kusXJQf5PJCv
https://dl.doubtnut.com/l/_DNINmitodrr5


Answer: B

Watch Video Solution

12. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

=
sin 3A − cos( − A)π

2

cos A + cos(π + 3A)

tan A

cot A

tan 2A

cot 2A

13. 

A. 

=
sin 3θ + sin 5θ + sin 7θ + sin 9θ

cos 3θ + cos 5θ + cos 7θ + cos 9θ

tan 3θ

https://dl.doubtnut.com/l/_DNINmitodrr5
https://dl.doubtnut.com/l/_ISSHpzv017n8
https://dl.doubtnut.com/l/_He2PODMOnqX6


B. 

C. 

D. 

Answer: C

Watch Video Solution

cot 3θ

tan 6θ

cot 6θ

14. If  then  is equal to

A. 

B. 

C. ab

D. 

Answer: B

Watch Video Solution

= ,
sin(x + y)

sin(x − y)

a + b

a − b

tan x

tan y

b

a

a

b

a − b

https://dl.doubtnut.com/l/_He2PODMOnqX6
https://dl.doubtnut.com/l/_YimQ9649MWqM


15. The value of  is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2 sin 3x cos 2x

sin 5x + sin x

sin 3x + sin x

sin 7x + sin x

sin 4x + sin x

16. Prove that 

 


 


A. 

(i)  2sin   sin  =
5π

12

π

12

1

2

(ii)  2 cos  cos  . =
5π

12

π

12

1

2

(iii)  2 sin  .  cos  = ( )
5π

12

π

2

2 + √3

2

2 + √3

2

https://dl.doubtnut.com/l/_OSSAB1GvgyAB
https://dl.doubtnut.com/l/_clVfeiVUAT1v


B. 

C. 

D. 

Answer: A

Watch Video Solution

2 − √3

2

1

2

3

2

17. The value of  is equal to

A. 

B. 

C. 

D. 1

Answer: C

Watch Video Solution

cos 75∘ cos 15∘

1

2

1

√2

1

4

https://dl.doubtnut.com/l/_clVfeiVUAT1v
https://dl.doubtnut.com/l/_wxf0TA2lrhYo


18. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sin(45∘ + A)sin(45∘ − A) = .

cos A

cos 2A
1

2

cos 2A

cos A
1

2

19. 

A. 

B. 

C. 

D. 

4 sin( + θ)sin( − θ) =
π

3

π

3

1 + cos θ

1 − 2 cos 2θ

2 cos 2θ − 1

1 + 2 cos 2θ

https://dl.doubtnut.com/l/_cibJtk7xhYQb
https://dl.doubtnut.com/l/_PzhjE1Y47aTN


Answer: D

Watch Video Solution

20. 

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

sin 180∘ sin 70∘ + sin 16∘ sin 36∘ =

sin 54∘ sin 34∘

sin 54∘ cos 34∘

cos 54∘ sin 34∘

cos 54∘ cos 34∘

21. The value of sin  sin  sin  sin  is

A. 

10∘ 30∘ 50∘ 70∘

1

8

https://dl.doubtnut.com/l/_PzhjE1Y47aTN
https://dl.doubtnut.com/l/_aPlfXlhdwJ7O
https://dl.doubtnut.com/l/_l4veCRpWWAiS


B. 

C. 

D. 

Answer: B

Watch Video Solution

1

16

√3

8

√3

16

22. The value of  is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

cos 20∘ cos 40∘ cos 60∘ cos 80∘

1

16

3

16

√3

16

√3

32

https://dl.doubtnut.com/l/_l4veCRpWWAiS
https://dl.doubtnut.com/l/_9Uqzu4rQDwXJ


23. If  then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

A + B + c = π, sin(A + B) =

sin A

sin B

sin A + sin C

sin C

24. 

A. 1

B. 0

C. 2

D. 

A + B + C = 180∘ ⇒ CosecA[sin B cos C + cos B sin c] =

−1

https://dl.doubtnut.com/l/_MjPkWatiJycP
https://dl.doubtnut.com/l/_zY9CMFHDU360


Answer: A

Watch Video Solution

25. If  then the value of is equal

to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

α + β + γ = π, sin2 α + sin2 β − sin2 γ

2 sin α

2 sin α cos β sin γ

2 sin α sin β cos γ

2 sin α sin β sin γ

26. If  then 

 is equal to

A + B + C = π,

cos2 A + cos2 B − cos2 C

https://dl.doubtnut.com/l/_zY9CMFHDU360
https://dl.doubtnut.com/l/_gPkLywMw7lZf
https://dl.doubtnut.com/l/_Hx8g20wjR5Qb


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1 − 4 sin A cos B sin C

1 − 2 sin A sin B sin C

1 − 2 sin A sin B cos C

1 − 4 sin A sin B cos C

27. If  then  is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A + B + C = 180∘ , tan A + tan B + tan C

tan A tan B tan C

2 tan A tan B tan C

−tan A tan B tan C

1 − 4 tan A tan B tan C

https://dl.doubtnut.com/l/_Hx8g20wjR5Qb
https://dl.doubtnut.com/l/_cVH267LBG5Cx


Critical Thinking

28. If  then 

A. 

B. 1

C. 2

D. 

Answer: D

Watch Video Solution

A + B + C = π, and cos A = cos B. cos C,

cot B. cot C =

1

3

1

2

1. Find the value of 

A. 

cos 12∘ + cos 84∘ + cos 156∘ + cos 132∘

1

2

https://dl.doubtnut.com/l/_cVH267LBG5Cx
https://dl.doubtnut.com/l/_3QQMnWHDdCDi
https://dl.doubtnut.com/l/_hf22WWvfyn6a


B. 1

C. 

D. 

Answer: C

Watch Video Solution

−
1

2

1

8

2. The value of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cot 70∘ + 4cos 70∘

1

√3

√3

2√3

1

2

https://dl.doubtnut.com/l/_hf22WWvfyn6a
https://dl.doubtnut.com/l/_31BidMo0ZYwe


3. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

cos 10x + cos 8x + 3 cos 4x + 3 cos 2x =

8 cos x cos 3x

8 cos3 x + cos 3x

8 cos3 x cos3 x

8 cos x cos3 3x

4. 

A. 

B. 

C. 

D. 

1 + cos 2x + cos 4x + cos 6x =

2 cos x cos 2x cos 3x

4 sin x cos 2x cos 3x

4 cos x cos 2x cos 3x

2 sin x cos 2x cos 3x

https://dl.doubtnut.com/l/_MpkBVb4HiOQZ
https://dl.doubtnut.com/l/_rUd0ZDNFjT6m


Answer: C

Watch Video Solution

5. The expression 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

cos 6x + 6 cos 4x + 15 cos 2x + 10
cos 5x + 5 cos 3x + 10 cos x

cos 2x

2 cos x

cos2 x

1 + cos x

6. If  and ,

then  is equal to

sin θ + sin 2θ + sin 3θ = sin α cos θ + cos 2θ + cos 3θ = cos α

θ

https://dl.doubtnut.com/l/_rUd0ZDNFjT6m
https://dl.doubtnut.com/l/_ovN0y6vEV03u
https://dl.doubtnut.com/l/_OII9MpgnZOsr


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

α

2

α

2α

α

6

7. If  and  then 

A. 

B. 

C. 

D. 

Answer: B

cos x + cos y + cos α = 0 sin x + sin y + sin α = 0

cot( ) =
x + y

2

sin α

cos α

cot α

sin( )
x + y

2

https://dl.doubtnut.com/l/_OII9MpgnZOsr
https://dl.doubtnut.com/l/_PmEt8I3ELKlt


Watch Video Solution

8.  is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(cos A + cos B)2 + (sin A − sin B)2

4 cos2( )
A − B

2

4 cos2( )
A + B

2

4 sin2( )
A − B

2

4 sin2( )
A + B

2

9.  is equal to

A. 

B. 

cos2 α + cos2(α + 120∘ ) + cos2(α − 120∘ )

3

2

1

https://dl.doubtnut.com/l/_PmEt8I3ELKlt
https://dl.doubtnut.com/l/_ZnVduIdj2dhC
https://dl.doubtnut.com/l/_8e0x80Ko5ibE


C. 

D. 

Answer: B

Watch Video Solution

1

2

0

10. If  prove that tan A tan B tan C

+ tan D=0

A. 0

B. 

C. 

D. 1

Answer: D

Watch Video Solution

= ,
 cos  (A + B)

 cos  (A − B)

 sin (C + D)

 sin (C − D)

−1

√3

https://dl.doubtnut.com/l/_8e0x80Ko5ibE
https://dl.doubtnut.com/l/_DVZoBy1oghGI
https://dl.doubtnut.com/l/_VzXGyziaG1O3


11. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

= tan(A + B)
sin2 A − sin2 B

sin A cos A − sin B cos B

tan(A − B)

tan(A + B)

cot(A − B)

cot(A + B)

12. The value of  is

A. 0

B. 1

C. 

D. 

cos + cos + cos + cos + cos ,
π

11

3π

11

5π

11
7π

11

9π

11

1

2

1

4

https://dl.doubtnut.com/l/_VzXGyziaG1O3
https://dl.doubtnut.com/l/_Zk3CacxVvDHZ


Answer: C

Watch Video Solution

13. If  then the value of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

cos A =
3

4
sin( )sin( )

A

2

5A

2

√11

16

−
√11

16

11

16

−
11

16

14. The value of  is

A. 

sin sin sin sin
π

16

3π

16

5π

16

7π

16

1

16

https://dl.doubtnut.com/l/_Zk3CacxVvDHZ
https://dl.doubtnut.com/l/_EvF0ISfxNYAC
https://dl.doubtnut.com/l/_2x0SVSKKkWPA


B. 

C. 

D. 

Answer: B

Watch Video Solution

√2

16

1

8

√2

8

15. sin  sin  sin  sin 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

20∘ 40∘ 60∘ 80∘ =

−3

16

5

16

3

16

−5

16

https://dl.doubtnut.com/l/_2x0SVSKKkWPA
https://dl.doubtnut.com/l/_WWbOgRPsprcK


16. Prove that 

A. 1

B. 2

C. 3

D. 

Answer: C

Watch Video Solution

tan 20∘ tan 40∘ tan 80∘ = tan 60∘

√3

2

17. The value of 

A. 1

B. 2

C. 3

D. 0

=
tan 70∘ − tan 20∘

tan 50∘

https://dl.doubtnut.com/l/_Iwxz6bJZtbvh
https://dl.doubtnut.com/l/_mCxgz4K02Oce


Answer: B

Watch Video Solution

18. The value of  is

A. 1

B. 0

C. 

D. 

Answer: B

Watch Video Solution

tan 20∘ + 2tan 50∘ − tan 70∘ ,

tan 50∘

tan 70∘

19. 

A. 

cos ec48∘ + cos ec96∘ + cos ec192∘ + cos ec384∘ =

4√3

https://dl.doubtnut.com/l/_mCxgz4K02Oce
https://dl.doubtnut.com/l/_YbMVxWzDPXuV
https://dl.doubtnut.com/l/_bKVVyaQQKKAG


B. 0

C. 

D. 

Answer: B

Watch Video Solution

−4√3

1

20. If the value of

 Find the

value of 

A. 1

B. 

C. 

D. 

Answer: D

cos( ) + cos( ) + cos( ) + cos((7 )) = −
2π

7
4π

7

6π

7

π

7
l

2

l

−1

1

2

−3

2

https://dl.doubtnut.com/l/_bKVVyaQQKKAG
https://dl.doubtnut.com/l/_4rCTbksu9Tre


Watch Video Solution

21. The expression  is

A. dependent on B

B. dependent on A-B

C. dependent on A

D. independent of A and B

Answer: C

Watch Video Solution

cos2(A − B) + cos2 B − 2 cos(A − B)cos A cos B

22. If  and  then-

A. 

B. 

A = tan 6∘ tan 42∘ B = cot 66∘ cot 78∘

3A = 2B

A = B

https://dl.doubtnut.com/l/_4rCTbksu9Tre
https://dl.doubtnut.com/l/_EDpKb7MmPbaO
https://dl.doubtnut.com/l/_oeZDfQyEhEAk


C. 

D. 

Answer: B

Watch Video Solution

A = 2B

A =
1

3

23. If A, B, C are the angles of a triangle, then 

is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

sin 2A + sin 2B − sin 2C

4 sin A cos B cos C

4 cos A

4 sin A cos A

4 cos A cos B sin C

https://dl.doubtnut.com/l/_oeZDfQyEhEAk
https://dl.doubtnut.com/l/_XKf9rGZekN7h
https://dl.doubtnut.com/l/_ldP58Kh51hwa


24. If , prove that 


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A + B + C = π

cos 2A + cos 2B + cos 2C = − 1 − 4 cos A cos B cos C.

−1 + 4 sin A cos B sin C

−1 + 4 sin A sin B cos C

−1 − 4 cos A cos B cos C

1 + 4 sin A sin B sin C

25. If , then  is equal to

A. 

B. 

C. 

D. 

x + y + z = 180∘ cos 2x + cos 2y − cos 2z

4 sin x sin y sin z

1 − 4 sin x sin y cos z

4 sin x sin y sin z − 1

cos x cos y cos z

https://dl.doubtnut.com/l/_ldP58Kh51hwa
https://dl.doubtnut.com/l/_IHKJxqOAHihH


Answer: B

Watch Video Solution

26. If . Then  is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

A + B + C = 3
π

2
cos 2A + cos 2B + cos 2C

1 − 4 cos A cos B cos C

4 sin A sin B sin C

1 + 2 cos A cos B cos C

1 − 4 sin A sin B sin C

27. if  thenA + B + C = π

+ + =
cos A

sin B sin C

cos B

sin C sin A

cos C

sin A sin B

https://dl.doubtnut.com/l/_IHKJxqOAHihH
https://dl.doubtnut.com/l/_6CmJWf4Gfg6x
https://dl.doubtnut.com/l/_wgvpDxjAV3iM


A. 0

B. 1

C. 2

D. 3

Answer: C

Watch Video Solution

28. If A, B, C are the angles of a triangle then

 is equal to

A. 1

B. 2

C. 3

D. 4

Answer: B

sin2 A + sin2 B + sin2 C − 2 cos A cos B cos C

https://dl.doubtnut.com/l/_wgvpDxjAV3iM
https://dl.doubtnut.com/l/_8mmI4YbJZhR9


Watch Video Solution

29. Prove that: 

A. 0

B. 

C. 

D. 1

Answer: C

Watch Video Solution

cos2 A + cos2(A + ) + cos2(A − ) =
π

3

π

3

3

2

1

2

3

2

30. If  then prove that 

A. 

B. 

A + B + C = π

cos2( ) + cos2( ) − cos2( ) = 2 cos( )cos( )sin( )
A

2
B

2

C

2

A

2
B

2

C

2

2 cos + cos2 − cos2A

2
B

2
C

2

4 cos cos sin
A

2
B

2
C

2

https://dl.doubtnut.com/l/_8mmI4YbJZhR9
https://dl.doubtnut.com/l/_rfJny7dPJ9vF
https://dl.doubtnut.com/l/_sohtoYSmUVQr


C. 

D. 

Answer: A

Watch Video Solution

1 − 2 cos cos sin
A

2
B

2

C

2

1 − 4 cos cos sin
A

2
B

2

C

2

31. In a triangle ABC, the value of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sin A + sin B + sin C

4 sin sin sin
A

2
B

2

C

2

4 cos cos cos
A

2
B

2

C

2

4 cos sin sin
A

2
B

2

C

2

4 cos sin cos
A

2
B

2

C

2

https://dl.doubtnut.com/l/_sohtoYSmUVQr
https://dl.doubtnut.com/l/_5Tfs9bqJ9hIC


32. If  then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A + B + C = 180∘ =
sin 2A + sin 2B + sin 2C

cos A + cos B + cos C − 1

8 sin sin sin
A

2
B

2

C

2

8 cos cos cos
A

2
B

2

C

2

8 sin cos cos
A

2
B

2

C

2

8 cos sin sin
A

2
B

2

C

2

33. If  then

A. 

B. 

C. 

D. 

α + β + γ = 2π

tan + tan + tan = tan tan tan
α

2

β

2

γ

2
α

2

β

2

γ

2

tan + tan + tan = tan tan tan
α

2

β

2

γ

2
α

2

β

2

γ

2

tan tan + tan tan + tan tan = 1
α

2

β

2

β

2

γ

2

γ

2
α

2

tan α tan β + tan β tan γ + tan γ tan α = 1

https://dl.doubtnut.com/l/_Hh2wSe2xKP7I
https://dl.doubtnut.com/l/_txK65Gi3D9BJ


Cometitive Thinking

Answer: A

Watch Video Solution

34. In a   is equal to

A. 1

B. 2

C. 

D. 

Answer: A

Watch Video Solution

ΔABC ∑( )
cot A + cot B

tan A + tan B

−1

−2

1. sin 47∘ + sin 61∘ − sin 11∘ − sin 25∘ =

https://dl.doubtnut.com/l/_txK65Gi3D9BJ
https://dl.doubtnut.com/l/_ede2pRKVqBg5
https://dl.doubtnut.com/l/_xF6OuYQTrBuk


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

sin 36∘

cos 36∘

sin 7∘

cos 7∘

2. 

A. 

B. 0

C. 

D. 

Answer: B

Watch Video Solution

cos A + cos(240∘ + A) + cos(240∘ − A) =

cos A

√3 sin A

√3 cos A

https://dl.doubtnut.com/l/_xF6OuYQTrBuk
https://dl.doubtnut.com/l/_tWriEoS3klU2


3. The expression  is equal

to

A. 

B. 0

C. 1

D. None of these

Answer: B

Watch Video Solution

+ + +
cos(10π)

13

cos(8π)

13

cos(3π)

13

cos(5π)

13

−1

4. 

A. 

B. 0

2 cos cos + cos + cos = 0
π

13

9π

13

3π

13

5π

13

−1

https://dl.doubtnut.com/l/_tWriEoS3klU2
https://dl.doubtnut.com/l/_Egw8sIQB62ZL
https://dl.doubtnut.com/l/_aRlBdzEWSAQw


C. 1

D. 

Answer: B

Watch Video Solution

1

2

5. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2 cos x − cos 3x − cos 5x =

16 cos3 x sin2 x

16 sin2 x cos2 x

4 cos2 x sin2 x

4 sin2 x cos2 x

https://dl.doubtnut.com/l/_aRlBdzEWSAQw
https://dl.doubtnut.com/l/_DzyzimbhiVbp


6. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1 + cos 10∘ + cos 20∘ + cso30∘ =

4cos 5∘ cos 10∘ cos 15∘

4cos 10∘ cos 20∘ cos 30∘

4sin 5∘ sin 10∘ sin 15∘

4sin 10∘ sin 20∘ sin 30∘

7. 

A. 

B. 

C. 

D. 

1 + cso56∘ + cos 58∘ − cos 66∘ =

2cos 28∘ cos 29∘ cos 33∘

4cos 28∘ cos 29∘ cos 33∘

4cos 28∘ cos 29∘ sin 33∘

2cos 28∘ cos 29∘ sin 33∘

https://dl.doubtnut.com/l/_VijgHuT9scUc
https://dl.doubtnut.com/l/_rcFP7xnP8bHt


Answer: C

View Text Solution

8. 

A. 2

B. 

C. 1

D. 0

Answer: C

View Text Solution

=
sin 85∘ − sin 25∘

cos 65∘

−1

9. The value of  is

A. 

sin 55∘ − cos 55∘

sin 10∘

1

√2

https://dl.doubtnut.com/l/_rcFP7xnP8bHt
https://dl.doubtnut.com/l/_MvdP0wy7l4Qi
https://dl.doubtnut.com/l/_iGoCvT7PNnSO


B. 2

C. 1

D. 

Answer: D

View Text Solution

√2

10. 

A. 

B. 2

C. 4

D. 8

Answer: C

Watch Video Solution

tan 9∘ − tan 27∘ − tan 63∘ + tan 81∘ = .................. ? ?

1

2

https://dl.doubtnut.com/l/_iGoCvT7PNnSO
https://dl.doubtnut.com/l/_qgwcmT57EYmh


11.  is equal to

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

sin A − sin B

cos A + cos B

sin( )
A + B

2

2 tan(A + B)

cot( )
A − B

2

tan( )
A − B

2

12.  is equal to

A. 

B. 

C. 

D. 

sin(B + A) + cos(B − A)

sin(B − A) + cos(B + A)

cos B + sin B

cos B − sin B

csoA + sin A

cos A − sin A

cos A − sin A

cos A + sin A

csoB − sin B

cos B + sin B

https://dl.doubtnut.com/l/_z1jjYZH6BY97
https://dl.doubtnut.com/l/_zGJ79rWOZMM1


Answer: B

Watch Video Solution

13. If  then the value

of 

A. 1

B. 

C. 

D. 

Answer: C

View Text Solution

si4A − cos 2A = cso4A − sin 2A(0 < A < ),
π

4

tan 4A =

1

√3

√3

√3 − 1

√3 + 1

14. If sin x + sin y =  and cos x + cos y = 1 then tan (x + y)
1

2

https://dl.doubtnut.com/l/_zGJ79rWOZMM1
https://dl.doubtnut.com/l/_JeJk3lfFwzCx
https://dl.doubtnut.com/l/_9cIgOEOhTXuP


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

−8

3

8

3

4
3

−
3

4

15. If  then 

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

cos x = 3, cos y, 2 tan( ) =
y − x

2

cot( )
y − x

2

cot( )
x + y

4

cot( )
y − x

4

cot( )
x + y

2

https://dl.doubtnut.com/l/_9cIgOEOhTXuP
https://dl.doubtnut.com/l/_I3DUOrTDeIfy


View Text Solution

16. If , then

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

cos A = m cos B

cot( ) = tan( )
A + B

2

m + 1

m − 1

B − A

2

tan( ) = cot( )
A + B

2

m + 1

m − 1
B − 1

2

cot( ) = cot( )
A + B

2

m + 1

m − 1

B − A

2

17. The sum  equals

A. 

B. 

S = sin θ + sin 2θ + … + sin nθ,

sin sinnθ

2

θ ( n + 1 )

2

sin θ

2

sin cosnθ

2

θ ( n + 1 )

2

sin θ

2

https://dl.doubtnut.com/l/_I3DUOrTDeIfy
https://dl.doubtnut.com/l/_V2cCXYczjrtP
https://dl.doubtnut.com/l/_eCMQkQzAcRrU


C. 

D. 

Answer: A

Watch Video Solution

cos sinnθ

2

θ ( n + 1 )

2

sin θ

2

cos cosnθ

2

θ ( n + 1 )

2

sin θ

2

18. 

A. is equal to zero

B. lies between 0 and 3

C. is a negative number

D. ilies between 3 and 6

Answer: C

Watch Video Solution

cos. + cos. + cos.
2π

7
4π

7

6π

7

https://dl.doubtnut.com/l/_eCMQkQzAcRrU
https://dl.doubtnut.com/l/_4cVyyhrtEXic
https://dl.doubtnut.com/l/_96WrEg897qR8


19. If  (A)  (B) `-sqrt(11) (C) 11

(D) -11

A. 

B. 

C. 7

D. 

Answer: B

Watch Video Solution

cos A = , then32 sin, sin, =
3

4

A

2

5A

2
√11

√7

−√7

−7

20.  is equal to

A. 

B. 

C. 

D. 

sin 12∘ sin 48∘ sin 54∘

1

16

1

32

1

8

1

4

https://dl.doubtnut.com/l/_96WrEg897qR8
https://dl.doubtnut.com/l/_oBT0XYEL3CEg


Answer: C

Watch Video Solution

21. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

sin 12∘ sin 24∘ sin 48∘ sin 84∘ =

cos 20∘ cos 40∘ cos 60∘ cos 80∘

sin 20∘ sin 40∘ sin 60∘ sin 80∘

3

15

5

16

22.  is

equal to

(1 + cos. )(1 + cos. )(1 + cos. )(1 + cos. )
π

8

3π

8

5π

8
7π

8

https://dl.doubtnut.com/l/_oBT0XYEL3CEg
https://dl.doubtnut.com/l/_KJJOmtcwAQVA
https://dl.doubtnut.com/l/_t0ENkrmZVgwz


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1

2

1

4

1

8

1

16

23. If  then  is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

m tan(θ − 300) = n tan(θ + 1200)
m + n

m − n

2 cos 2θ

cos 2θ

2 sin 2θ

sin 2θ

https://dl.doubtnut.com/l/_t0ENkrmZVgwz
https://dl.doubtnut.com/l/_SvdO5g7FAytn


24. The vlaue of is

A. 

B. 

C. 0

D. 

Answer: D

Watch Video Solution

cos2 76∘ + cos2 16 − cos 76∘ cos 16∘ ,

−
1

4

1

2

3

4

25. 

A. 

B. 

C. 

2 sin2 β + 4 cos(α + β)sin α sin β + cos 2(α + β) =

sin 2α

cos 2β

cos 2α

https://dl.doubtnut.com/l/_SvdO5g7FAytn
https://dl.doubtnut.com/l/_DHQIUdepSuNC
https://dl.doubtnut.com/l/_YBahiCVzhOzT


D. 

Answer: C

View Text Solution

sin 2β

26. In triangle ABC, the value of  is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

sin 2A + sin 2B + sin 2C

4 sin A sin B sin C

4 cos A cos B cos C

2 cos A cos B cos C

2 sin A sin B sin C

https://dl.doubtnut.com/l/_YBahiCVzhOzT
https://dl.doubtnut.com/l/_5SSMdiFJubSJ


27. If  and  then  is

equal to

A. 

B. 2

C. 1

D. 

Answer: B

Watch Video Solution

A + B + C = π cos A = cos B cos C tan B tan C

1

2

−
1

2

28. If A,B ,C are the angle of  then 

A. 0

B. 1

C. 2

ΔABC

cot A. cot B + cot B. cot C + cot C. cot A =

https://dl.doubtnut.com/l/_z1SHJv1trGVp
https://dl.doubtnut.com/l/_fUolcz9L7fYJ


D. 

Answer: B

Watch Video Solution

−1

29. If  then the value of 

 will be

A. 

B. 

C. 

D. 1

Answer: B

Watch Video Solution

A + B + C = 180∘

(cot B + cot C)(cot C + cot A)(cot A + cot B)

sec A sec B sec C

cos ecA cos ecb cos ecC

tan A tan B tan C

https://dl.doubtnut.com/l/_fUolcz9L7fYJ
https://dl.doubtnut.com/l/_7WbfuGJlbsph


30. If  then 

A. 0

B. 2

C. 1

D. 

Answer: C

Watch Video Solution

A + b + C = π
tan A + tan B + tan C

tan A
.
anB

.

tan C

−1

31. In a   then 

A. 

B. 

C. 0

D. 1

△ ABC ∠A =
π

2
cos2 B + cos2 C =

−2

−1

https://dl.doubtnut.com/l/_ofz4YvtgcffI
https://dl.doubtnut.com/l/_ynN07VEmN6DC


Answer: D

Watch Video Solution

32. If , then the value of 

will be

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A + B + C = 180∘ cot. + cot. + cot.
A

2
B

2

C

2

2 cot cot cot
A

2
B

2

C

2

4 cot cot cot
A

2
B

2

C

2

cot cot cot
A

2
B

2

C

2

8 cot cot cot
A

2
B

2

C

2

33. Let A, B and C are the angles of a plain triangle and

 .then  is equal totan( ) = , tan( ) =
A

2

1

3
B

2

2

3
tan( )

C

2

https://dl.doubtnut.com/l/_ynN07VEmN6DC
https://dl.doubtnut.com/l/_IrRIB4RMFFfv
https://dl.doubtnut.com/l/_GUfN2YxPnTqL


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

7
9

2

9

1

3

2

3

34. In any triangle ABC.  is equal to

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

sin2 + sin2 + sin2A

2
B

2

C

2

1 − 2 cos cos cso
A

2
B

2

C

2

1 − 2 sin cos cos
A

2
B

2

C

2

1 − 2 sin sin sin
A

2
B

2

C

2

1 − 2 cos cos sin
A

2
B

2

C

2

https://dl.doubtnut.com/l/_GUfN2YxPnTqL
https://dl.doubtnut.com/l/_KscvmhUc5bZq


Evaluation Test

1. If , then  is

A. 0

B. 1

C. 2

D. 3

Answer: B

Watch Video Solution

A + B + C = 180∘ Σtan. tan.
A

2

B

2

2. If , prove that

.

A. 

α + β − γ = π

sin2 α + sin2 β − sin2 γ = 2 sin α sin β cos γ

2 sin α sin β cos γ

https://dl.doubtnut.com/l/_KscvmhUc5bZq
https://dl.doubtnut.com/l/_AvJfwZrJ6zL1
https://dl.doubtnut.com/l/_XHtlf02nNTZP


B. 

C. 

D. None of these

Answer: A

Watch Video Solution

2 cos α cos β cos γ

2 sin α sin β sin γ

3. If  then  is

A. 

B. 

C. 

D. None of these

Answer: C

View Text Solution

cos θ + cos 7θ + cos 3θ + cos 5θ = 0, θ

nπ

4

nπ

2

nπ

8

https://dl.doubtnut.com/l/_XHtlf02nNTZP
https://dl.doubtnut.com/l/_CfoS41PpbM3W


4. if  and  and  then the

value of  is equal to

A. CD

B. 

C. 

D. 

Answer: D

Watch Video Solution

sin A + sin B = C cos A + cos B = D C, D ≠ 0

sin(A + B)

CD

C 2 + D2

C 2 + D2

2CD

2CD

C 2 + D2

5. If  are in AP, then  is equal

to

A. 

B. 

C. 

α, β, γ ∈ [0, π] and α, β, γ
sin α − sin γ

cos γ − cos α

sin β

cos β

cot β

https://dl.doubtnut.com/l/_OjI3jPvBUa9J
https://dl.doubtnut.com/l/_cn6ywf7XWjWS


D. 

Answer: C

Watch Video Solution

2 cos β

6. Suppose 
 is an identity in 
 where 


are constants and 
the the value of 
is ________

A. 15

B. 6

C. 1

D. 0

Answer: B

Watch Video Solution

sin3 x sin 3x =
n

∑
m= 0

Cm cos mx x,

C0, C1, Cn Cn ≠ 0, n

https://dl.doubtnut.com/l/_cn6ywf7XWjWS
https://dl.doubtnut.com/l/_vUYirJX7IqYZ


7. Given  then  where

k has the value equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin B = ⋅ sin(2A + B)
1

5
tan(A + B) = k tan A,

5

3

2

3

3

2

3

5

8. If  then 

is equal to

A. 1

B. 

C. 

sin A + sin 2A + sin3 A = cos A + cos 2A + cos 3A, tan 2A

−1

1

2

https://dl.doubtnut.com/l/_ZNKOwN0sy2uQ
https://dl.doubtnut.com/l/_P43PaFTtglI2


D. 

Answer: A

View Text Solution

−
1

2

https://dl.doubtnut.com/l/_P43PaFTtglI2

